
MONTAGEANLEITUNG
BEDIENUNGSANLEITUNGD

HANDLEIDING VOOR DE MONTAGE
GEBRUIKSAANWIJZINGNL

MONTAJ TALIMATI
KULLANIM KLAVUZUTR

ASSEMBLY INSTRUCTIONS
INSTRUCTION MANUALGB

INSTRUKCJA MONTAŻU
INSTRUKCJA OBSŁUGIPL

ИНСТРУКЦИЯ ПО МОНТАЖУ
ИНСТРУКЦИЯ ПО ЭКСПЛУАТАЦИИRU

INSTRUCŢIUNI DE INSTALARE
INSTRUCŢIUNI DE UTILIZARERO ISTRUZIONI DI MONTAGGIO

MANUALE DI ISTRUZIONIIT

NOTICE DE MONTAGE          
MANUEL´INSTRUCTIONS    FR MONTÁŽNY NÁVOD

NÁVOD NA POUŽITIESK

KÖZGYŰLÉS UTASÍTÁSOK
KEZELÉSI UTASÍTÁSHU MONTÁŽNÍ NÁVOD

NÁVOD K POUŽITÍCZ

NAVODILA ZA MONTAŽO
NAVODILA ZA UPORABOSI INSTRUÇÕES DE MONTAGEM

MANUAL DO USUÁRIOPT

INSTRUCCIONES DE MONTAJE
MANUAL DEL USUARIOES UPUTE ZA MONTAŽU

UPUTE ZA UPOTREBUHRB/F

S
C

A
R

LE
T

T
 V

81
41

-0
06

4/
25

03
-0

06
4

25
01

-0
0

64
/8

14
2

-0
06

4

191001



0089

2

0019

0019

!



R L

C

G

G

D
H

3

H

[mm]

i

X1

L- 5H- 120s

X2

q M6*25

X8

DC

H- 120g

X2

f H- 120

X1

i

X1

L- 4H- 120s

X3

q M6*25

X12

Fi- 35x

X1



90
!

4

i

X1

L- 4H- 120s

X2

0019
q M6*25

X8

i

X1

L- 4H- 120s

X2

q M6*25

X8



90

5

120 mm

f

g

gg fx

H- 120g

X2

f H- 120

X1

i

X1

L- 4H- 120s

X3

q M6*25

X12

f

gC D

Fi- 35x

X1



6

G H DC



1 2

3 4

43

21

7



0

1
2

3 4 5

0

6 7

6

0064

0064

8



Name · Naam · Nazwa · İsim · Ηазваниe · Nume · Nome · Názov · Názov · 
Název · Neve 

Typ · Type · Tip · Tип · Tipo · Típus 

Service · Dienstverlening · Serwis · Servis · Cepвисная слуҗба · Serviciu ∙ Services ∙Servizio 
∙Servisný list ∙ Szolgáltatás ∙ Servisní list

R L

SCARLETT V 

9

[mm]

s

G H

i L- 4H- 120s q M6*25H- 120gf H- 120

s

s

C

g

f

s

D

g
f

Fi- 35x

X1


	strona1
	Slajd 2
	Slajd 3
	Slajd 4
	Slajd 5
	Slajd 6
	Slajd 7
	Slajd 8
	Slajd 9

